EARAZROREIERT — 2 N—XBISY —F 20185 7H28H () 9E{A&E1H

mﬁﬁa'kﬁ##‘é HS5% 3K \ [%2] % \ [ErmE] — | 4 (&) 17500 &
[x&£] 1 %:350,000  23#&:105,000 ™  3#%:35000H™ . 43#%&:21,000 " ~ 53 :14,000 M
B\ ®RBE RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
il #3759 2a L] ;li_ﬂ';ﬁ 1:(5_8).4 3-3-3-2 [38.2| — 1 ;1_320) m(g;ﬁx(%”ﬁ)
L:IM>T75vva BA4A4FH RS IR 7 7 — L
e 5 # 3 | REEC 1:58.4 1-1-1-1 | 38.7| — 3 461 | FEE (£E)
2 2| E=FY 54.0 (7E) NI
] LTUA—Y BixTIL O @ w2
3lzl 7| =¥- f 3 EEEEEEA 1:59.4 2223 |39.5| — | 4 | 498 Tﬁgﬁgg%)
: 5 | B
QXA YLYL BATry LT © 0| ks
alsls|=v/nERZ 3 54%?& 1:(529).8 5-6-4-4 |37.3| — 2 | 482 ﬁl{-ﬁlgéé (£8)
R:ELFAOVY BFIALTIuR R petier
5 6| Xa—ATTITL # 3 g%%o%iﬂ 1(:15/92.>9 7-7-65 |37.2| — | 6 | 450 ;ng?ﬁ? (£%)
R:YwrINEry b BEETLTO- (-6) gL K
6 3| FTLTIVE— f 3 | A 2:((1_)0).9 4-4-56 |38.3| — | 7 | 439 ?ﬁ;iig (8
QRIY—b—O— Bifi-Fy bRE— #3 | Siigus
7 4| T2 207 — 3 57%1%35&—% 2:(%.1 6-5-7-7 |38.3| — | 5 | 464 15;;)&51%&(15%’)
QN-ELTr— BiI-YLT75740 4| ks
@ 1 —F—EBIE
| 3=3F= 2,7,1,3,5,4,6
2a=7r= 2,7,1,3,4,5,6
d=zr= 2,7,1,5,3,6,4
41—F— 2,1,7,5,6,3,4
[ F/N=5
B OB 1 170MH 794K 1-2 160 5= 1-2 310M & 1-2-7 750M
7B 1 130M 1-7 290 BHE 1-2 380 e 1-2-7 1,600
2 260 2-7 590MH

ABICOVWTRDTEEERROODE. TR LIV,




